Chiffres Romains (B)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMCMXCIHI = 2993 MDCXXV =
MCMLII = MCCXXXVII =
MCMI = MCCCXXVI =
MCCXXXIV = MMDCXLII =
MMCCVIII = MMMCCCLXXV =

MMCCCXXXI = 2331 = 2356

= 3438 = 2709

= 1361 = 2751

= 3349 = 3857

= 1150 = 2758
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Chiffres Romains (B) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMCMXCIII

MCMLII

MCMI

MCCXXXIV

MMCCVIII

MMCCCXXXI

MMMCDXXXVIII

MCCCLXI

MMMCCCXLIX

MCL

2993

1952

1901

1234

2208

2331

3438

1361

3349

1150

MDCXXV

MCCXXXVII

MCCCXXVI

MMDCXLII

MMMCCCLXXV

MMCCCLVI

MMDCCIX

MMDCCLI

MMMDCCCLVII

MMDCCLVIII

1625

1237

1326

2642

3375

2356

2709

2751

3857

2758
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